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Division – 2 

1. 57 ÷ 3 = ________ 

a) 25       b) 20 

c) 19       d) 17 

2. 85 ÷ 5 = ________ 

a) 16       b) 15 

c) 14       d) 17 

3. 84 ÷ 2 = ________ 

a) 35       b) 42 

c) 45       d) 39 

4. Divide 56 by 3. 

a) Quotient = 17 Remainder = 2    b) Quotient = 15 Remainder = 2 

c) Quotient = 18 Remainder = 2    d) None of these 

5. 108 ÷ 6 = ________ 

a) 17       b) 18 

c) 16       d) 15 

6. 81 ÷ 3 = ________ 

a) 25       b) 24 

c) 26       d) 27 

7. There are 75 chocolates in a packet. Distribute all the chocolates equally among 5 boys. How many 

chocolates each boy will get? 

a) 14       b) 15 

c) 16       d) None of these 

8. John has 216 marbles with him. If he distributes all the marbles equally among 8 children, then how 

many marbles each child will get? 

a) 21       b) 23 

c) 25       d) 27 
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9. 225 pens are packed into 9 packets. How many pens are there in each packet? 

a) 22       b) 23 

c) 24       d) 25 

10. A sweet stall sold 675 sweets in 5 days. How many sweet did it sell in each day? 

a) 125       b) 135 

c) 145       d) 155     

      

 


